199

Progress in Fractional Differentiation and Applications An International Journal

http://dx.doi.org/10.18576/pfda/030303

A Coupled Method to Solve Reaction-Diffusion-Convection Equation with the Time Fractional Derivative without Singular Kernel

Afshin Babaei^{1,*} and Alireza Mohammadpour²

¹ Department of Mathematics, University of Mazandaran, P.O. Box: 47416-95447, Babolsar, Iran
 ² Department of Mathematics, Babol Branch, Islamic Azad University, Babol, Iran

Received: 21 Dec. 2016, Revised: 20 Jan. 2017, Accepted: 26 Jan. 2017 Published online: 1 Jul. 2017

Abstract: In this work, we find the solution of a class of time fractional reaction-diffusion-convection equations. The time fractional derivatives are described in a new definition of fractional derivative without singular kernel which has been recently introduced by Caputo and Fabrizio. For obtaining the solution, we apply an approach based on a combination of the Laplace transform and the differential transform. Finally, some test problems are discussed to show ability and utility of the proposed method.

Keywords: Fractional calculus, Caputo-Fabrizio fractional derivative, Laplace transform, differential transform method, reaction-diffusion-convection equation.

1 Introduction

The fractional calculus has been focused due to its frequent appearances in different fields of science [1,2,3,4,5]. Many models have been investigated in analytical and numerical frames by a number of authors [6,7,8,9,10]. Various different definitions of the fractional derivatives were suggested [1,11,12]. We recall that all of them are non-local operators related to each other in contrast to the integer order derivative which is a local operator.

Below, the fractional derivative without singular kernel, introduced by Caputo and Fabrizio in [13], is employed, namely

$$D_t^{\alpha} f(t) = \frac{1}{\Gamma(1-\alpha)} \int_a^t \frac{f'(\tau)}{(t-\tau)^{\alpha}} d\tau,$$

where $\alpha \in [0,1]$ and $a \in [-\infty,t)$. Also $f \in H^1(a,b)$ for b > a. By changing the kernel $\frac{1}{(t-\tau)^{\alpha}}$ with the function $\exp(-\frac{\alpha}{1-\alpha}t)$ and $\frac{1}{\Gamma(1-\alpha)}$ with $\frac{M(\alpha)}{1-\alpha}$, they have suggested the new fractional derivative, named Caputo-Fabrizio (CF) derivative, as

$$\mathscr{D}_{t}^{\alpha}f(t) = \frac{M(\alpha)}{(1-\alpha)}\int_{a}^{t} f'(\tau)\exp\left[-\frac{\alpha(t-\tau)}{1-\alpha}\right]d\tau,$$
(1)

where $M(\alpha)$ is a normalization function such that M(0) = M(1) = 1. According to (1), it can be concluded that if f(t) is a constant function, then $\mathcal{D}_t^{\alpha} f(t) = 0$ as in the Caputo fractional derivative. But contrary to the Caputo derivative, the kernel does not have singularity for $t = \tau$. Also, $M(\alpha)$ has an explicit formula as [14]

$$M(\alpha) = \frac{2}{2-\alpha}, \qquad 0 \le \alpha \le 1.$$

^{*} Corresponding author e-mail: babaei@umz.ac.ir

Thus, the new definition of fractional derivative can be proposed as [14]

$$\mathscr{D}_{t}^{\alpha}f(t) = \frac{1}{(1-\alpha)}\int_{a}^{t} \exp(-\frac{\alpha(t-\tau)}{1-\alpha})f'(\tau)d\tau$$
⁽²⁾

with $0 < \alpha < 1$.

In recent two years, some researchers have used this new fractional derivative to explain some real world applications. For example, the author in [15] applied it to the nonlinear Fisher's reaction-diffusion equation. Also in [16] the nonlinear Baggs and Freedman model is studied. In [17] authors proved uniqueness of a solution for an initial value problem of a nonlinear fractional differential equation with the CF derivative. In [18] this new fractional derivative is used to introduce the mass-spring-damper motion equation. Also, in [19] author applied the CF fractional derivative to KdV–Burgers equation.

In some literature, analytical solutions to problems of time-fractional differential equations have been constructed [3, 7, 11, 20]. In this article, we use the Laplace transform method [1] and the differential transform method [21, 22] simultaneously, to find a solution of the class of time fractional reaction-diffusion-convection equations

$$\mathscr{D}_t^{\alpha}u(x,t) + a_2(x)\frac{\partial^2 u(x,t)}{\partial x^2} + a_1(x)\frac{\partial u(x,t)}{\partial x} + a_0(x)u(x,t) = f(x,t),$$
(3)

on $\Omega = \{(x,t) : (x,t) \in [0,L] \times [0,T]\}$, subject to the initial condition

$$u(x,0) = \varphi(x),\tag{4}$$

and the boundary conditions

$$u(0,t) = g(t), \frac{\partial u(0,t)}{\partial x} = h(t).$$
(5)

In the equation (3), $0 < \alpha \le 1$ is the order of the fractional derivative and $a_i(x) \ne 0$ are some continuous functions.

The outline of this paper is structured as follows. In Section 2, some preliminaries about the Laplace transform and the differential transform are reviewed. The coupled method is presented in Section 3. Some test problems are solved in Section 4 to show the ability and efficiency of the proposed method. Finally, a conclusion is given in Section 5.

2 The Laplace Transform of the CF Derivative and the Differential Transformation

In present section, some basic definitions and operations of the Laplace transform and the differential transform method will be reviewed.

Definition 1. The Laplace transform of a function $f(t), t \ge 0$, denoted by $\overline{f}(s)$, is defined by

$$\mathscr{L}[f(t)] = \bar{f}(s) = \int_0^\infty e^{-st} f(t) dt.$$
(6)

Furthermore, the given function f(t) in (6) is called the inverse Laplace transform of $\overline{f}(s)$ and is denoted by $\mathscr{L}^{-1}[\overline{f}]$. Lemma 1.[13] Let $\alpha \in [0, 1]$. The Laplace transform of the CF derivative is

$$\mathscr{L}[\mathscr{D}_t^{\alpha}f(t)] = \frac{s\bar{f}(s) - f(0)}{s + \alpha(1-s)}.$$
(7)

Zhou in [21] introduced the differential transform method, based on the Taylor series expansion. This method provides an iterative procedure to generate the derivatives of a function at a point, in terms of the initial or boundary conditions. Thus, this approach can be used to obtain a power series solution of an initial value problem.

Definition 2. [22] The transformation of the *k*th derivative of a function in one variable is as follows:

$$F(k) = \frac{1}{k!} \left[\frac{d^k f}{dx^k}(x) \right]_{x=x_0},$$
(8)

and the inverse transformation is defined as

$$f(x) = \sum_{k=0}^{\infty} F(k)(x - x_0)^k.$$

Table 1 displays some properties related to the differential transformation.

Function Form	Transformed Form
f(x) = g(x) + h(x)	F(k) = G(k) + H(k)
f(x) = cg(x)	F(k) = cG(k) (c is a constant)
f(x) = g(x).h(x)	$F(k) = \sum_{k_1=0}^{k} g(k_1)H(k - k_1)$
$f(x) = \frac{d^n g(x)}{dx^n}$	$F(k) = \frac{(k+n)!}{k!}G(k+n)$
$f(x) = x^n$	$F(k) = \delta(k-n) = \begin{cases} 1 \ k=n \\ 0 \ k \neq n \end{cases}$
$f(x) = x^n g(x)$	F(k) = G(k - n)
$f(x) = e^{\lambda x}$	$F(k) = \frac{\lambda^k}{k!}$
$f(x) = \sin(\omega x + \upsilon)$	$F(k) = \frac{\omega^k}{k!}\sin(\frac{k\pi}{2} + \upsilon)$
$f(x) = \cos(\omega x + \upsilon)$	$F(k) = \frac{\omega^k}{k!} \cos(\frac{k\pi}{2} + \upsilon)$

 Table 1: Some properties of the differential transformation.

3 The Coupled Method

According to Lemma 1, by applying the Laplace transform to Eq. (3) with respect to the initial condition (4), we get

$$\frac{s\bar{u}(x,s) - \varphi(x)}{s + \alpha(1-s)} + a_0(x)\bar{u}(x,s) + a_1(x)\frac{d\bar{u}(x,s)}{dx} + a_2(x)\frac{d^2\bar{u}(x,s)}{dx^2} = \bar{f}(x,s),$$
(9)

where

$$\bar{u}(x,s) = \mathscr{L}[u(x,t)], \tag{10}$$

and $\bar{f}(x,s)$ is the Laplace transform of f(x,t). Also from the Laplace transform of the boundary conditions (5), we have

$$\bar{u}(0,s) = \bar{g}(s), \qquad \frac{d\bar{u}(0,s)}{dx} = \bar{h}(s),$$
(11)

where $\bar{g}(s)$ and $\bar{h}(s)$ respectively are the Laplace transform of g(t) and h(t).

Then, we obtain the solution of (9)-(11) by the differential transform method as

$$\bar{u}(x,s) = \sum_{k=0}^{\infty} U(k) x^k,$$

where U(k) can be determined by the properties of the differential transformation in Table 1 and the relation (8). Finally, to get the solution of the problem (3)-(5), we use the inverse Laplace transform of $\bar{u}(x,s)$.

4 Test Problems

In this section, the proposed method is implemented on some examples of the initial boundary value problems for the time fractional reaction-diffusion-convection equations with the CF fractional derivative.

Example 1. In this example, we consider the fractional diffusion-convection equation of order $0 < \alpha < 1$

$$\mathscr{D}_t^{\alpha} u(x,t) + x \frac{\partial u(x,t)}{\partial x} + \frac{\partial^2 u(x,t)}{\partial x^2} = e^t - e^{-\frac{\alpha}{1-\alpha}} + 2x^2 + 2, \quad 0 < x < 1, 0 < t < 1,$$
(12)

with respect to the conditions

$$u(x,0) = x^{2},$$

$$u(0,t) = e^{t}, u_{x}(0,t) = 0.$$
(13)

By applying the Laplace transform on the Eqs. (12) and (13), we have

$$\frac{s\bar{u}(x,s) - x^2}{b(s)} + x\frac{d\bar{u}(x,s)}{dx} + \frac{d^2\bar{u}(x,s)}{dx^2} = \frac{1}{s-1} - \frac{1}{s+\frac{\alpha}{1-\alpha}} - \frac{2x^2}{s} + \frac{2}{s},$$
(14)

where $b(S) = s + \alpha(1 - s)$, and

$$\bar{u}(0,s) = \frac{1}{s-1}, \quad \frac{d\bar{u}}{dx}(0,s) = 0.$$
 (15)

Based on the properties of the differential transformation in Table 1, the transformed form of Eqs. (14) and (15) are as follows:

$$\frac{sU(k) - \delta(k-2)}{b(s)} + kU(k) + (k+1)(k+2)U(k+2) = \left(\frac{1}{s-1} + \frac{\alpha - 1}{s + \alpha(1-s) + \frac{2}{s}}\right)\delta(k) + \frac{2}{s}\delta(k-2),$$

or

$$U(k+2) = \frac{1}{(k+1)(k+2)} \left[\left(\frac{1}{b(s)} + \frac{2}{s} \right) \delta(k-2) - \left(\frac{s}{b(s)} + k \right) U(k) + \left(\frac{1}{s-1} + \frac{\alpha - 1}{b}(s) + \frac{2}{s} \right) \right],$$
(16)

and

$$U(0) = \frac{1}{s-1}, \quad U(1) = 0.$$
(17)

The next terms of U(k), $k \ge 2$, can be obtained by substituting (17) into the recurrence relation (16). Thus, we get

$$U(2) = \frac{1}{s},$$

 $U(k) = 0, \quad k \ge 3.$

and

So

 $\bar{u}(x,s) = \sum_{k=0}^{\infty} U(k)x^k = \frac{1}{s-1} + \frac{1}{s}x^2.$ (18)

Applying the inverse Laplace transform to Eq. (18) gives

$$u(x,t) = e^t + x^2,$$

which is the exact solution of the problem.

Example 2. Consider the equation

$$\mathscr{D}_t^{\alpha} u(x,t) + \frac{\partial u(x,t)}{\partial x} - \frac{\partial^2 u(x,t)}{\partial x^2} = e^t - e^{-\frac{\alpha}{1-\alpha}t} + \sin(x) + \cos(x), \quad 0 < x < 1, 0 < t < 1, \tag{19}$$

with respect to the conditions

$$u(x,0) = 1 + \sin(x),$$

$$u(0,t) = e^{t}, u_{x}(0,t) = 1.$$
(20)

Similar to Example 1, we can conclude the following transformed form for Eq. (19) as

$$\frac{s\bar{u}(x,s) - (1 + \sin x)}{b(s)} + \frac{d\bar{u}(x,s)}{dx} - \frac{d^2\bar{u}(x,s)}{dx^2} = \frac{1}{s-1} - \frac{1}{s + \frac{\alpha}{1-\alpha}} - \frac{1}{s}(\sin x + \cos x),$$

or

$$\frac{s\bar{u}(x,s)}{b(s)} + \frac{d\bar{u}(x,s)}{dx} - \frac{d^2\bar{u}(x,s)}{dx^2} = \left(\frac{1}{b(s)} + \frac{1}{s}\right)\sin x + \frac{1}{s}\cos x + \frac{\alpha}{b(s)} + \frac{1}{s-1},\tag{21}$$

and Eq. (20) as

$$\bar{u}(0,s) = \frac{1}{s-1}, \frac{d\bar{u}(0,s)}{dx} = \frac{1}{s}.$$
(22)

Also, for Eqs. (21) and (22), we get the differential transforms

$$U(k+2) = \frac{1}{(k+1)(k+2)} \left[\frac{s}{b(s)} U(k) + (k+1)U(k+1) - \left(\frac{1}{b(s)} + \frac{1}{s}\right) \frac{\sin\frac{k\pi}{2}}{k!} - \frac{\cos\frac{k\pi}{2}}{sk!} - \left(\frac{\alpha}{b(s)} + \frac{1}{s-1}\right) \delta(k) \right],$$
(23)

and

$$U(0) = \frac{1}{s-1}, U(1) = \frac{1}{s}.$$
(24)

Substituting (24) into (23) gives

$$U(2) = 0, \quad U(3) = \frac{1}{6s}, \quad U(4) = 0, \quad U(5) = \frac{1}{120s}, \cdots,$$

as a result, by mathematical induction, we get

$$U(2i) = 0, U(2i+1) = \frac{1}{(2i+1)!s}, \quad i \ge 1$$

Then

$$\bar{u}(x,s) = \lim_{n \to \infty} \sum_{i=0}^{n} U(i)x^{i} = \frac{1}{s-1} + \lim_{n \to \infty} \sum_{i=1}^{n} \frac{1}{s} \frac{x^{2i+1}}{(2i+1)!}.$$
(25)

Applying the inverse Laplace transform to Eq. (25) gives

 $u(x,t) = e^t + \sin x.$

Example 3. Let us consider the following problem

$$D_t^{\alpha} u(x,t) - \frac{\partial^2 u(x,t)}{\partial x^2} + e^{-\frac{\alpha}{1-\alpha}t} + 1 = 0, \quad 0 < x < 1, \quad 0 < t < 1,$$
(26)

$$u(x,0) = x^2, \qquad 0 < x < 1,$$
 (27)

$$u(0,t) = \alpha t, \ u_x(0,t) = 0, \ 0 < t < 1.$$
 (28)

According to the Laplace transform of the Eq. (26) and the initial condition (27), we get

$$\frac{s\bar{u}(x,s) - x^2}{b(s)} - \frac{d^2\bar{u}(x,s)}{dx^2} + \frac{1}{s} + \frac{1}{s + \frac{\alpha}{1 - \alpha}} = 0,$$
(29)

Now, by taking the differential transform of (29), we have

$$U(k+2) = \frac{1}{(k+1)(k+2)} \left[\frac{s}{b(s)} U(k) - \frac{\delta(k-2)}{b(s)} + \left(\frac{1}{s} + \frac{1-\alpha}{b(s)} \right) \delta(k) \right].$$
 (30)

Substituting the Laplace transform of the boundary conditions, *i.e.* $U(0) = \frac{\alpha}{s^2}$ and U(1) = 0, into the Eq. (30) gives

$$U(2) = \frac{1}{s},$$

 $U(n) = 0, \quad n \ge 3.$

and



Hence,

$$\bar{u}(x,s) = \lim_{n \to \infty} \sum_{i=0}^n U(i)x^i = \frac{\alpha}{s^2} + \frac{1}{s}x^2.$$

Finally, by applying the inverse Laplace transform, we obtain the exact solution of the problem (26)-(28) as

$$u(x,t) = \alpha t + x^2.$$

Example 4. Consider the time fractional equation

$$\mathscr{D}_{t}^{\alpha}u(x,t) - \frac{\partial^{2}u(x,t)}{\partial x^{2}} + e^{x - \frac{\alpha}{1 - \alpha}t} = 0, \quad 0 < x < 1, 0 < t < 1,$$
(31)

with conditions:

$$u(x,0) = e^x,$$

 $u(0,t) = u_x(0,t) = e^t.$ (32)

Here, we have the Laplace transform of the Eq. (31) as

$$\frac{s\bar{u}(x,s) - e^x}{b(s)} - \frac{d^2\bar{u}(x,s)}{dx^2} + \frac{e^x}{s + \frac{\alpha}{1 - \alpha}} = 0,$$
(33)

or

$$\frac{s\bar{u}(x,s)}{b(s)} - \frac{d^2\bar{u}(x,s)}{dx^2} - \frac{\alpha}{b(s)}e^x = 0.$$
(34)

and the Laplace transform of the boundary conditions (32) as

$$\bar{u}(0,s) = \frac{d\bar{u}(0,s)}{dx} = \frac{1}{s-1}.$$
(35)

Differential transform of the Eq. (34) becomes

$$(k+1)(k+2)U(k+2) = \frac{s}{b(s)}U(k) - \frac{\alpha}{k!b(s)}.$$

So, the next terms of U(k), $k \ge 2$ can be obtained as

$$U(2) = \frac{1}{2(s-1)}, U(3) = \frac{1}{6(s-1)}, U(4) = \frac{1}{24(s-1)}, \cdots, U(n) = \frac{1}{n!(s-1)}.$$

Thus

$$\bar{u}(x,s) = \lim_{n \to \infty} \sum_{i=0}^{n} U(i) x^{i} = \lim_{n \to \infty} \sum_{i=0}^{n} \frac{1}{s-1} \frac{x^{i}}{i!} = \frac{1}{s-1} e^{x}.$$

Applying the inverse Laplace transform gives

$$u(x,t) = e^{x+t},$$

which is the exact solution of the problem (31)-(32).

5 Conclusion

In this paper, an approach is presented to solve the initial-boundary value problems for a class of time fractional reaction-diffusion-convection equations with a fractional derivative without singular kernel. A combination of the Laplace transform and the differential transform is used to obtain the exact solution of the problem. First, the Laplace transform is implemented on the time fractional equation and its boundary conditions. Afterwards, the differential transform method is employed to find the series solution of the transformed problem. Finally, taking the inverse Laplace transform will get the exact solution of the initial boundary value problem. The results verify that the proposed coupled method is an applicable and efficient technique to solve such problems.

Acknowledgement

The authors would like to thank the anonymous referees for their constructive comments and helpful suggestions.

References

- [1] I. Podlubny, Fractional Differential Equations, Academic Press, San Diego, California, 1999.
- [2] A. Carpinteri and F. Mainardi, Fractals and Fractional Calculus in Continuum Mechanics, Springer Verlag, 1997.
- [3] R. Gorenflo, F. Mainardi, D. Moretti, G. Pagnini and P. Paradisi, Discrete random walk models for space-time fractional diffusion, *Chem. Phys.* 284, 521–541 (2002).
- [4] R. Metzler and J. Klafter, The random walks guide to anomalous diffusion: a fractional dynamics approach, *Phys. Rep.* **339**, 1–77 (2000).
- [5] I. M. Sokolov, J. Klafter and A. Blumen, Fractional kinetics, Phys. Today 55, 48-54 (2002).
- [6] R. Gorenflo, Y. Luchko and F. Mainardi, Wright function as scale-invariant solutions of the diffusion-wave equation, J. Comp. Appl. Math. 118, 175–191 (2000).
- [7] F. Liu, V. Anh, I. Turner and P. Zhuang, Time fractional advection dispersion equation, J. Appl. Math. Comput. 13, 233–245 (2003).
- [8] W. R. Schneider and W. Wyss, Fractional diffusion and wave equations, J. Math. Phys. 30, 134–144 (1989).
- [9] T. Tang, A finite difference scheme for partial integro-differential equations with a weakly singular kernel, *Appl. Numer. Math.* 11 (4), 309–319 (1993).
- [10] W. Wyss, The fractional diffusion equation, J. Math. Phys. 27, 2782–2785 (1986).
- [11] F. Huang and F. Liu, The time fractional diffusion and advection-dispersion equation, ANZIAM J. 46, 1–14 (2005).
- [12] K. B. Oldham and J. Spanier, The Fractional Calculus, Academic Press, New York, 1974.
- [13] M. Caputo and M. Fabrizio, A new definition of fractional derivative without singular kernel, *Progr. Fract. Differ. Appl.* 1(2), 73–85 (2015).
- [14] J. Losada and J. J. Nieto, Properties of a new fractional derivative without singular kernel, *Progr. Fract. Differ. Appl.* 1(2), 87–92 (2015).
- [15] A. Atangana, On the new fractional derivative and application to nonlinear Fisher's reaction–diffusion equation, *Appl. Math. Comput.* **273**, 948–956 (2016).
- [16] A. Atangana and I. Koca, On the new fractional derivative and application to nonlinear Baggs and Freedman model, J. Nonlinear Sci. Appl. 9, 2467–2480 (2016).
- [17] N. Al-Salti, E. Karimov and K. Sadarangani, On a differential equation with Caputo-Fabrizio fractional derivative of order 1 < 2 and application to mass-spring-damper system, *Progr. Fract. Differ. Appl.* **2**(4), 257–263 (2016).
- [18] J. F. Gomez-Aquilar, M. G. Lopez-Lopez, V. M. Alvarado-Martinez, J. Reyes-Reyes and M. Adam-Medina, Modeling diffusive transport with a fractional derivative without singular kernel, *Physica A*. **447**, 467–481 (2016).
- [19] E. F. D. Goufo, Application of the Caputo-Fabrizio fractional derivative without singular kernel to Korteweg-de Vries-Bergers equation, *Math. Model. Anal.* 21(2) 188–198 (2016).
- [20] R. Goreno, F. Mainardi, D. Moretti and P. Paradisi, Time fractional diffusion: a discrete random walk approach, *Nonlinear Dynam.* 29, 129–143 (2002).
- [21] J. K. Zhou, Differential Transform and Its Applications for Electrical Circuits, Huazhong University Press, Wuhan, China, 1986.
- [22] A. Arikoglu and I. Ozkol, Solution of boundary value problems for integro-differential equations by using differential transform method, *Appl. Math. Appl.* 168, 1145–1158 (2005).